कार्यालय जोधपुर नगर निगम, दक्षिण

क्रमांकः— विकास / दक्षिण / द्वितीय / 2022—23 / 1707

दिनांक :-6 4 2023

—ः निविदा सूचना ::-

(यूनिक बिड संख्या DLB2324WSOB00709

नगर निगम जोधपुर-दक्षिण की और से निम्नलिखित कार्यों हेतु भारत सरकार एवं राज्य सरकार के विभिन्न विभागों / स्वायतशाषी / निगमों / बोर्डो / राजकीय उपक्रमों में पंजीकृत ए. ए व ए. श्रेणी में पंजीकृत तथा नगर निगम जोधपुर दक्षिण / उत्तर में निर्धारित श्रेणी में पंजीकृत नियमानुसार योग्य संवेदको से बजे तक बेची जाकर, दिनांक ध्रान्य १,२०२३ को दोपहर 2:00 बजे तक प्राप्त कर 3:00 वजे उपस्थित संवेदको के समक्ष खोली जायेगी। अन्य विवरण एवं शर्ते निविदा प्रपत्र कार्यालय समय में कार्यालय में देखे जा सकते है। www.sppp.rajasthan.gov.in एवं जोधपुर नगर निगम—दक्षिण की वेवसाईट

www.urban.rajasthan.gov.in/mcjs पर देखी जा सकती है।

क्र.	कार्य का नाम	•			
सं.		अनु.	घरोहर	निविदा	कार्य पूर्ण
		लागत	राशि	शुल्क	करने की
01	Interlocking tile work along internal roads in Ward no.	लाखों में			अवधि
	of of Nagar nigam Jodhpur South.	4.74	9480/-	500/-	6 माह
02	Interlocking tile work near Sardar Club scheme in				
•	ward no. 61 of Nagar nigam Jodhpur South	4.99	9980/-	500/-	6 माह
03	Providing & laying Water supply Line in Patel Nagar				
	ward no. 61 of NNJS	2.00	4000/-	500/-	६ माह
04	Interlocking tile work at Bheruvilas in Ward no. 61 of				0 110
167	Nagar nigam Jodhpur South.	4.99	9980/-	500/-	6 ਸ਼ਾਣ
05	Interlocking tile work at various places in Abhaygharh	,	7700/	500/-	६ माह
The same of	Ward no. 61 of Nagar nigam Jodhpur South.	4.74	9480/-	500/-	6 माह ^{्र}

नोट :- (1) दुरें चार माह तक मान्य होगी। (2) कार्य शुरू करने से पूर्व व कार्य पूर्ण करने के पश्चात् कार्य स्थल की फोटो/ विडियोग्राफी सी.डी. आवश्यक रूप से प्रस्तुत करें। (2) संशर्त निविदा स्वीकार नहीं होगी। (3) दोष निवारण अविध नियमानुसार होगी। (4) धरोहर राशि के डिमाण्ड ड्राफ्ट की वैधता निविदा खोलने की तारीख से निविदा की वैधता अवधि तक होनी अनिवार्य है अन्यथा निविदा कॉपी निरस्त की जा सकती है। (5) निविदा कॉपी बाबत् आवेदन पत्र के साथ पंजीयन प्रमाण-पत्र संलग्न करना आवश्यक है, अन्यथा निविदा कॉपी जारी नहीं की जायेगी। (6) आयुक्त नगर निगम जोधपुर के आदेश क्रमांक 9836 दिनांक 07.02.2020 एवं 9975 दिनांक 14.07.2020 अनुसार पंजीयन रिव्यू आदेश के तहत निविदा स्वीकार/अस्वीकार की जायेगी। (7) श्रीमान् निदेशक, स्वायत्त शासन विभाग राजस्थान जयपुर के आदेश क्रमांक 144612-825 दिनांक 22.11.2021 की पालना में वित्त विभाग की अधिसूचना दिनांक 22.10.2021 अनुसार आर.टी.पी.पी. नियम 2013 में Additional Performance Security के लिए नियम 75-ए के अनुसार Additional

> आयुक्त जोधपुर नगर निगम-दक्षिण दिनांक :- 6/4/2023

क्रमांक :- 1708 to 1714

प्रतिलिपी :- सूचनार्थ एवं आवश्यक कार्यवाही हेतु।

1. श्रीमान जिला कलेक्टर महोदय, जोधपुर।

2. निदेशक / अधीक्षण अभियन्ता, स्थानीय निकाय विभाग, जयपुर।

3. अधीक्षण अभियन्ता / अधिशाषी अभियन्ता, सा.नि.वि. / जोधपुर विकास प्राधिकरण / नगर <u>नि</u>गम जोधपुर।

4. सहायक लेखाधिकारी, जोधपुर नगर निगम ।

5. राजस्थान संवाद, जयपुर को भेजकर लेख है कि पर्यटन बाजार समाचार में प्रकाशित करें भेजे गये समाचार पत्र को सूचना तुरंत प्रभाव jodhpurmcsamvad@yahoo.com पर Intimation Mail पर कॉपी

6. श्री रामेश्वर गहलोत, प्रोग्रामर नगर निगम जोधपुर दक्षिण को भेजकर लेख है कि ई–निविदा सूचना (1) sppp.rajasthan.gov.in (2) urban.rajasthan.gov.in/mcjs पर अपलोड करें।

सूचना पट्ट जोधपुर नगर निगम उत्तर/दक्षिण।

जोधपुर नगर निगम-दक्षिण



NIT No date	Sr No
Last Date of Sale :-	Earnest Money : Rs
Date of Receipt :-	CR No Dated
Copy issued to M/s	

Name of work- Interlocking tile work along internal roads in Ward no. 61 of Nagar nigam Jodhpur South.

OTHER DESIGNATION OF			BASED ON RUIDF 2022 PWD 2022			
SNo	tren 10.	ttem	QTY	Unit	Rate In Rs.	Amount
1	2,4	Dismantling of existing structures like culverts, bridges retaining walls, CC road and other structure comprising of masonry, cement concrete, wood work, steel work, including T&P and scaffolding wherever necessary, sorting the dismantled material, disposal of unserviceable material and stacking the serviceable material with all lifts and lead of 50 metres as directed by Engineer.				
	2.4.1	Cement Concrete Grade M-15 and above and PCC blocks	3,00	cum	620.00	1860.00
2	4,2,1	Earth work in excavation for roadway, including trimming bottom and side slopes in accordance with requirement of line, grades and cross sections, including disposal of surplus material with all lift and lead upto 1000 metre as per MoRT&H specification clause 301. In all type of soil.				·
3	1.1.1	Carriage of Materials by mechanical transport including	72.00	cum	214.50	15444.00
v		loading, unloading and stacking :: Earth upto 4km				
`	\ \	The state of the s	75.00	Cum,	223.29	16746.75
4	1	Providing and laying lean cement concrete 1:4:8 in Sub-base over a prepared sub-grade with coarse and fine aggregate conforming to 18: 383, the size of coarse aggregate not exceeding 25 mm, aggregate cement ratio not to exceed 15:1, aggregate gradation after blending to be as per table 600-1, cement content not to be less than 150 kg/ cum, optimum moisture content to be determined during trial length construction, concrete strength not to be less than 10 Mpa at 7 days, mixed in concrete mixer, laid manualy, compacted with surface vibrator, finishing and curing complete as per clause 601, 112 of MoRT&H specification including all material, labour, machinery, lighting, guarding and maintenance of diversion.	36.00	cum	2775.00	. 99900.00
5	1	Providing & laying interlocking terrzo cloured block plastic noulded.80 mm thickness having min, crushing strangth 40 N/mm2 laid over 40 mm thick river sand bed complete as per trawing and approved by Engineer In Charge, Complete	v			
- -	\	with all respect.	360.00	Sqm.	802.00	288720.00
	ք ս <u>ք</u>	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering - All work pto plinth level 1:1½:3 (1 Cement : 1½ coarse sand : 3 raded stone aggregate 20				
		ım nominal size).	4.00	cum	5810.00	23240,00

7	bottom width 1 150 mm thick including fixing Specification	fixing precast cement concrete M-20 grad- nical Concrete Mixer) kerb stone top an 15 and 165 mm respectively, 250 mm high of PCC M-10 grade foundation as per design and a site as per clause 408 of MoRT&I including all material, labour, machinery ing and maintenance of diversion	d n o,	RM	312.50	28125,00
						474035.75

Say 4.74 Lacs

Terms and Condition:-

- 1. सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगें।
- 2. कार्य रथल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3.जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- 4 कार्य रथल पर कार्य संम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- 5.टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- 6. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो/विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में जमा
- 7. दोष निवारण अवधि नियमानुसार रहेगी ।
- 8. दरें 4 माह तक मान्य रहेगी
- 9 सशर्त निविदा स्वीकार नहीं होगी ।
- 10 निष्पादन सुरक्षा राशि 10 प्रतिशत मय अनुबन्ध के जमा कराना होगा ।

✓EXECUTIVE ENGINEER NAGAR NIGAM, JODIIPUR.

I/We hereby agree to do the above work @ _____ Above/below the "G" Schedule.

NIT No date	Sr No
Last Date of Sale :- Date of Receipt :-	Earnest Money: Rs
Convisand to M/a	CR No Dated

Name of work- Interlocking tile work near Sardar Club scheme in Ward no. 61 of Nagar nigam Jodhpur South.

	No Item			BASED ON RI	UIDP 2022 PWD	2022
S.No.	no.	Item	QTY	Unit	Rate In Rs.	
1	2.4	Dismantling of existing structures like culverts, bridges, retaining walls, CC road and other structure comprising of masonry, cement concrete, wood work, steel work, including T&P and scaffolding wherever necessary, sorting the dismantled material, disposal of unserviceable material and stacking the serviceable material with all lifts and lead of 50 metres as directed by Engineer.				
	2.4.1	Cement Concrete Grade M-15 and above and PCC blocks	3.00	cum	620.00	1860.00
2	4.2.1	Earth work in excavation for roadway, including trimming bottom and side slopes in accordance with requirement of line, grades and cross sections, including disposal of surplus material with all lift and lead upto 1000 metre as per MoRT&H specification clause 301. In all type of soil.				
3	1.1.1	Carriage of Materials by mechanical transport including loading, unloading and stacking :: Earth upto 4km	76.00	cum	214.50	16302.00
4	i d s e	Providing and laying lean cement concrete 1:4:8 in Sub-base over a prepared sub-grade with coarse and fine aggregate conforming to IS: 383, the size of coarse aggregate not exceeding 25 mm, aggregate cement ratio not to exceed 15:1, aggregate gradation after blending to be as per table 600-1, cement content not to be less than 150 kg/ cum, optimum moisture content to be determined during trial length construction, concrete strength not to be less than 10 Mpa at 7 days, mixed in concrete mixer, laid manualy, compacted with surface vibrator, finishing and curing complete as per clause 501, 112 of MoRT&H specification including all material, abour, machinery, lighting, guarding and maintenance of	79.00	Cum.	223.29	17639.91
5	11.64 F n N	Providing & laying interlocking terrzo cloured block plastic noulded.80 mm thickness having min. crushing strangth 40 l/mm2 laid over 40 mm thick river sand bed complete as per trawing and approved by Engineer In Charge, Complete with ll respect.	38.00	cum Sqm.	2775.00	105450.00

) 6	1	Providing and laying in position cement concrete of specified grade excluding the cost of centring and shuttering - All work upto plinth level 1:1½:3 (1 Cement : 1½ coarse sand : 3 graded stone aggregate 20				
7	10.1	mm nominal size).	4.00	cum	5810.00	23240.00
٠		Providing and fixing precast cement concrete M-20 grade (Using mechanical Concrete Mixer) kerb stone top and bottom width 115 and 165 mm respectively, 250 mm high on 150 mm thick PCC M-10 grade foundation as per design, including fixing at site as per clause 408 of MoRT&H Specification including all material, labour, machinery, lighting, guarding and maintenance of diversion				23240.00
•	•		95.00	RM	312.50	29687.50
						498939.41

Say 4.99 Lacs

Terms and Condition :-

- सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगें।
- 2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3.जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- 4.कार्य स्थल पर कार्य संम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- 5.टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- 6. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो/विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में जमा कराने
- 7. दोष निवारण अवधि नियमानुसार रहेगी ।
- 8. दरें 4 माह तक मान्य रहेगी
- 9 सशर्त निविदा स्वीकार नहीं होगी ।
- 10 निष्पादन सुरक्षा राशि 10 प्रतिशत मय अनुबन्ध के जमा कराना होगा ।

VEXECUTIVE ENGINEER NAGAR NIGAM, JODHPUR.

I/We hereby agree to do the above work @ _____ Above/below the "G" Schedule.

NIT No date	Sr No
Last Date of Sale :-	Earnest Money: Rs
Date of Receipt :-	CR No Dated
Courtesiand to NA	Dated

Name of work- Providing & laying Water supply Line in Patel Nagar ward no. 61 of

-	Troviding & laying water supply Line in			BASED ON RUIDP 2022 PWD 2022			
S. No.	Item no.	Item	QTY	Unit	Rate In		
1	2.10	Dismantling of flexible pavements and disposal of dismantled materials up to a lead of 50 metres as directed by Engineer			Rs.	,	
-	2.10.1	Bituminous courses	12.50	cum	411.00	5137.50	
2		Granular courses	50.00	cum	286.50	14325.00	
	4.2.1	Earth work in excavation for roadway, including trimming bottom and side slopes in accordance with requirement of inegrades and cross sections, including disposal of surplus material with all lift and lead upto 1000 metre as per MoRT&H specification clause 301. In all type of soil	, 5				
Ω.	19.1.2	Providing, lowering, laying in trenches, aligning, fixing in position and jointing socketed rubber gasket type ISI marked uPVC pipes of Class III (6 Kg/sqcm) suitable for potable water with rubber ring joints (as per IS 4985-2000) of following outer dia with all accessories (excluding specials) complete including all material, labour, hydraulic testing and commissioning as per Technical Specifications and as per direction of Engineer. Note: E/w to be measured and paid separately. 110 mm dia		cum	214.50	53625.00	
4	,	Providing, lowering, laying in trenches, aligning, fixing in position and jointing uPVC pipe fittings/ accessories of class III (6 Kg/sqcm) confirming to IS:7834 suitable for potable water with rubber rings joints in uPVC pipe line at all levels/ depth including all material, labour, hydraulic testing and commissioning as per Technical Specifications and as per direction of Engineer. (i) uPVC End Cap 110 mm dia	=	mtr	300.50	75125.00	
\dashv			2.00	each	102.00	204.00	
5 1		(ii) Double/Single socketed 90 degree long bend (single piece welded with socket) 110 mm dia Providing and making house service connections from water	20.00	each	543.00	10860.00	
	: : : : : : : : : : : : : : : : : : :	supply distribution uPVC/ DI/ CI pipe line upto water meter chamber inside the property using MDPE/ HDPE (Class-PE 80) PN 6 composite pipes for upto 5 metre length. The item consisting of composite pipes of MDPE/ HDPE pipe below he ground level and GI class B pipe above the ground level ncluding supply and fixing of ferrules, clamps, rubber sheets, apping, compression fittings etc, complete including all naterial, labour, testing and commissioning as per Technical specifications and as per direction of Engineer 20 mm Diameter HDPE below the ground & 15 mm GI pipe class B bove the ground.					
		Granita.	20.00	each	771.00	15420.00	

	THE R. P. LEWIS CO., LANSING	· wetnessed in the	- Control of the Cont				
	p.a.	19,27,2	Providing, lowering, laying, aligning, fixing in position in pip	c			7
الع	1		line, manually operated CI D/P Stulce valves of approve	dl .			1.
•			make (18: 14846 amended upto date) PN 1.0 class o	4			4
		- 6	following dia complete (including jointing and jointing				
	1		material) including all material, labour, testing and	4			
			commissioning along with pipe line as per Technica	il			
			Specifications and as per direction of Engineer, 100 mm dia	1			
	19	EXPLORES AND ADDRESS OF		2.00	each	6280.00	12560.00
	'	17/10/1	l'abrication, supply of flanged/ plain ended MS pipe made			0200.00	12300.00
			from M8 sheet strips of relevant IS specification of approvedm	1			
			mickness by welding, lowering, laying, aligning, fixing in				
			position at all level/ depths in trenches complete (excluding	.]			
			manged joining wherever required) including all material				
1			moon, testing and commissioning along with pipe line as per	.			
	1		reclinical Specifications and as per direction of Engineer		1		
,			Note: E/w to be measured and paid separately. MS pipe				
-			specials upto 600mm dia (with minimum 5mm thickness				
l	-		theet)	40.00	kg	144.00	5760.00
				12,00	∧g	144,00	193016.50
							193016.50

Say 2.0 Lacs

Terms and Condition:-

- रागी प्रकार को कर (टैक्स) संवेदक द्वारा ही यहन किये जायेगें।
- 2. कार्य रणल पर अभिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3.जी.शारणी में चर्णित कार्यों के अतिरिवत य अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- मंत्रार्थ रथांत पर कार्य रांग्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- ह. हंकण तुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- 0. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो / विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में जमा
- 7. योग निवारण अवधि नियमानुसार रहेगी ।
- 0. वरें 4 गाह तक मान्य रहेगी
- पशर्त निविदा स्वीकार नहीं होगी ।
- 10 निषादन सुरक्षा राशि 10 प्रतिशत गय अनुबन्ध के जमा कराना होगा ।

FEXECUTIVE ENGINEER NAGAR NIGAM, JODHPUR.

I/We hereby agree to do the above work @ _____ Above/below the "G" Schedule.

NIT No date	Sr No Earnest Money : Rs CR No Dated
Date of Receipt:- Copy issued to M/s	*

Name of work- Interlocking tile work at Bheruvilas in Ward no. 61 of Nagar nigam Jodhpur South.

			BASED ON RUIDP 2022 PWD 2022			
S.No	Item no.	Item	QTY	Unit	Rate In Rs.	Amount
1	2.4	Dismantling of existing structures like culverts, bridges, retaining walls, CC road and other structure comprising of masonry, cement concrete, wood work, steel work, including T&P and scaffolding wherever necessary, sorting the dismantled material, disposal of unserviceable material and stacking the serviceable material with all lifts and lead of 50 metres as directed by Engineer.				
	2.4.1	Cement Concrete Grade M-15 and above and PCC blocks	3.00	cum	620.00	1860.00
2	4.2.1	Earth work in excavation for roadway, including trimming bottom and side slopes in accordance with requirement of line, grades and cross sections, including disposal of surplus material with all lift and lead upto 1000 metre as per MoRT&H specification clause 301. In all type of soil.	76.00			
.3	1.1.1	Carriage of Materials by mechanical transport including loading, unloading and stacking :: Earth upto 4km	76.00	Cum.	214.50	16302.00
4	. 1	Providing and laying lean cement concrete 1:4:8 in Sub-base over a prepared sub-grade with coarse and fine aggregate conforming to IS: 383, the size of coarse aggregate not exceeding 25 mm, aggregate cement ratio not to exceed 15:1, aggregate gradation after blending to be as per table 600-1, cement content not to be less than 150 kg/ cum, optimum moisture content to be determined during trial length construction, concrete strength not to be less than 10 Mpa at 7 days, mixed in concrete mixer, laid manualy, compacted with surface vibrator, finishing and curing complete as per clause 601, 112 of MoRT&H specification including all material, labour, machinery, lighting, guarding and maintenance of diversion.	38.00	cum	2775.00	17639.91
5	· n	Providing & laying interlocking terrzo cloured block plastic moulded.80 mm thickness having min. crushing strangth 40 N/mm2 laid over 40 mm thick river sand bed complete as per lrawing and approved by Engineer In Charge, Complete with Il respect.	380.00	Sqm.	802.00	304760.00

-	6	21.1.2	Providing and laying in position cement concrete of specified				
			grade excluding the cost of centring and shuttering - All work				
1			upto plinth level 1:11/2:3 (1 Cement : 11/2 coarse sand : 3				
1			graded stone aggregate 20				
ŀ	-		mm nominal size).	4.00	Cum.	5010.00	
	7	10.1	Providing and fixing precast cement concrete M-20 grade		cum	5810.00	23240.00
١			(Using mechanical Concrete Mixer) kerb stone top and				1
٠			bottom width 115 and 165 mm respectively, 250 mm high and				
ı			150 mm thick PCC M-10 grade foundation as per design				1
.			including fixing at site as per clause 408 of Monterial	- 1			1
ı			Specification including all material, labour, machinery,				
1			lighting, guarding and maintenance of diversion				
L			= = 5	95.00	RM	312.50	
				75.00	KIVI	312.30	29687.50
							498939 41

Say 4.99 Lacs

Terms and Condition :-

- 1. सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगें।
- 2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3.जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- 4.कार्य स्थल पर कार्य संम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- 5.टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- 6. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो/विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में जमा
- 7. दोष निवारण अवधि नियमानुसार रहेगी ।
- · 8. दरें 4 माह तक मान्य रहेगी
- 9 सशर्त निविदा स्वीकार नहीं होगी ।
- 10 निष्पादन सुरक्षा राशि 10 प्रतिशत मय अनुबन्ध के जमा कराना होगा ।

∤EXECUTIVE ENGINEER NAGAR NIGAM, JODHPUR.

I/We hereby agree to do the above work @ _____ Above/below the "G" Schedule.

NIT No.	,
NIT No date	Sr No
Last Date of Sale :-	
Date of Receipt:-	Earnest Money: Rs
Conviscued to M/a	CR No Dated

Name of work- Interlocking tile work at various places in Abhaygharh Ward no. 61 of Nagar nigam Jodhpur South.

	Item			VARED OF	RUIDP 2022	PWD 2022
S.No	no.	Item	QTY	Unit	Rate In Rs.	Amount
1	2.4	Dismantling of existing structures like culverts, bridges retaining walls, CC road and other structure comprising of masonry, cement concrete, wood work, steel work, includin T&P and scaffolding wherever necessary, sorting the dismantled material, disposal of unserviceable material and stacking the serviceable material with all lifts and lead of 5 metres as directed by Engineer.	of g e d			
	2.4.1	Cement Concrete Grade M-15 and above and PCC blocks	3.00	cum	620.00	1860.00
	4.2.1	Earth work in excavation for roadway, including trimming bottom and side slopes in accordance with requirement o line, grades and cross sections, including disposal of surplus material with all lift and lead upto 1000 metre as per MoRT&H specification clause 301. In all type of soil.	f			v
3	1.1.1	Carriage of Materials by mechanical transport including	72.00	cum	214.50	15444.00
		loading, unloading and stacking :: Earth upto 4km	5			
4	9.3		75.00	Cum.	223.29	16746.75
		Providing and laying lean cement concrete 1:4:8 in Sub- base over a prepared sub-grade with coarse and fine aggregate conforming to IS: 383, the size of coarse aggregate not exceeding 25 mm, aggregate cement ratio not to exceed 15:1, aggregate gradation after blending to be as per table 600-1, cement content not to be less than 150 kg/ cum, optimum moisture content to be determined during trial length construction, concrete strength not to be less than 10 Mpa at 7 days, mixed in concrete mixer, laid manualy, compacted with surface vibrator, finishing and curing complete as per clause 601, 112 of MoRT&H specification including all material, abour, machinery, lighting, guarding and maintenance of diversion.	36.00	cum	2775.00	99900.00
5	11.64	Providing & laying interlocking terrzo cloured block plastic			22,00	77700.00
	d	noulded.80 mm thickness having min. crushing strangth 40 N/mm2 laid over 40 mm thick river sand bed complete as per lrawing and approved by Engineer In Charge, Complete with Ill respect.	360.00	Sqm.	802.00	288720.00
5	21.1.2 P g u g	Providing and laying in position cement concrete of specified rade excluding the cost of centring and shuttering - All work pto plinth level 1:11/2:3 (1 Cement : 11/2 coarse sand : 3 raded stone aggregate 20	200,00	Sym,	502.00	,
	m	nm nominal size).	4.00	cum	5810.00	23240.00

7	10.1	Providing and fixing precast cement concrete M-20 grade (Using mechanical Concrete Mixer) kerb stone top and bottom width 115 and 165 mm respectively, 250 mm high on 150 mm thick PCC M-10 grade foundation as per design, including fixing at site as per clause 408 of MoRT&H				
		Specification including all material, labour, machinery, lighting, guarding and maintenance of diversion	90.00	RM	312.50	28125.00
						474035.75

Say 4.74 Lacs

Terms and Condition:-

- सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगें।
- 2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3.जी.सारणी में वर्णित कार्यों के अतिरियत व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- 4.कार्य स्थल पर कार्य संग्वंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्ययं के स्तर पर लगाना होगा।
- 5.टंकण त्रुटी की अवस्था में सम्यन्धित रेट मान्य होगी।
- 6. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो/विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में
- 7. दोष निवारण अवधि नियमानुसार रहेगी ।
- . 8. दरें 4 माह तक मान्य रहेगी
- 9 सशर्त निविदा स्वीकार नहीं होगी ।
- 10 निष्पादन सुरक्षा राशि 10 प्रतिशत मय अनुवन्ध के जमा कराना होगा ।

★EXECUTIVE ENGINEER NAGAR NIGAM, JODHPUR.

I/We hereby agree to do the above work @ _ _____ Above/below the "G" Schedule.